

[illegible]

[illegible]

$x > 0$ و $\frac{x}{\log x} > 0 \Rightarrow \log x > 0 \Rightarrow x > 1$ و $x > 0 \Rightarrow D_f^2(0,1]$
 مخرج نمی تواند صفر باشد!
 $(x^2 - x - 2) > 0$ و $\sqrt{x^2 - 1} \rightarrow x' - 1 > 0 \rightarrow x > 1 \cup x < -1$ و $x^2 - 1 \neq 0 \Rightarrow x \neq \pm 1$
 $(x^2 - 2)(x + 1) > 0$
~~حل~~
 $I: x > 2$ II: $x < -1$ و $x > -1 \Rightarrow$
 $D_f = \mathbb{R} - [-1, 2]$

[illegible]

$$\log^{\frac{1}{2}} 2 \log^{\frac{1}{2}} - \log^{\frac{1}{2}} 2 \log^{\frac{1}{2}} - \log^{\frac{1}{2}} - \log^{\frac{1}{2}}, \log^{\frac{1}{2}} = 2 \log^{\frac{1}{2}} \quad \text{and} \quad \log^{\frac{1}{2}} 2 (\log^{\frac{1}{2}} - \log^{\frac{1}{2}}) + \log^{\frac{1}{2}}$$

$$\left(1 - \frac{r}{10} - \frac{r}{10}\right)x^r + \left(\frac{r}{10} - \frac{r}{10}\right)x^r - \left(1 - \frac{r}{10} + \frac{r}{10}\right)x^r = \left(-\frac{r}{10} + \frac{r}{10}\right)x^r \Rightarrow \left(\frac{r}{10}x^r + \frac{r}{10}x^r - \frac{11}{10} = 0\right) \quad (r)$$

$$\frac{r}{5}x^r + 11x^r - 11 = 0 \Rightarrow x_1^2 = \frac{11}{4} \quad \text{and} \quad x_1 = 1 \Rightarrow |x_1 - x_1| = \frac{r}{5} = \frac{1}{5} \quad \checkmark$$

$$\log_{10}^r \frac{1}{\log_r^a} = \frac{1}{\log_r^{10} - \log_r^r} \Rightarrow \log_r^{10} = 1 \Rightarrow \log_r^{10} = e \checkmark$$

$$\log_{10}^r \frac{1}{\log_r^{10}} = \frac{\log_r^{10}}{\log_r^r + \log_r^r} = \frac{r+1}{r, n+1} = \frac{r}{r, n} = \boxed{\frac{18}{19}}$$

$$\log_r^a = \frac{1}{\log_r^r} = r$$

$\log_4 2 = \frac{1}{\log_2 4} = \frac{1}{2}$ $\log_4 8 = \frac{\log_2 8}{\log_2 4} = \frac{3}{2}$ $\log_4 16 = \frac{\log_2 16}{\log_2 4} = \frac{4}{2} = 2$ $\log_4 256 = \log_4 4 + \log_4 64 = \frac{1}{2} + \frac{6}{2} = \frac{7}{2}$ $\log_4 16 = \frac{1}{\log_{16} 4} = \frac{1}{\frac{1}{4}} = 4$	(2) 6
$\log_{16} 128 = \log_{2^4} 2^7 = \frac{7}{4}$ $\log_{16} 128 = \log_{16} 2 + \log_{16} 64 = \frac{1}{4} + \frac{3}{1} = \frac{13}{4}$ $\log_{16} 128 = \log_{16} 2 + \log_{16} 8 + \log_{16} 8 = \frac{1}{4} + \frac{2}{4} + \frac{2}{4} = \frac{5}{2}$ $\log_{16} 128 = \log_{16} 4 + \log_{16} 32 = \frac{1}{2} + \frac{5}{2} = 3$ $\log_{16} 128 = \log_{16} 8 + \log_{16} 16 = \frac{3}{4} + 1 = \frac{7}{4}$ $\log_{16} 128 = \log_{16} 16 + \log_{16} 8 = 1 + \frac{3}{4} = \frac{7}{4}$ $\log_{16} 128 = \log_{16} 32 + \log_{16} 4 = \frac{5}{4} + \frac{1}{2} = \frac{7}{4}$ $\log_{16} 128 = \log_{16} 64 + \log_{16} 2 = \frac{3}{2} + \frac{1}{4} = \frac{13}{4}$ $\log_{16} 128 = \log_{16} 128$	(1, 2) 7
$\left(\frac{r}{d}\right)^{x-1} = \left(\frac{d}{r}\right)^{x-1}$ $\frac{d}{r} = \left(\frac{r}{d}\right)^{-1} \Rightarrow \left(\frac{d}{r}\right)^{-1} = \left(\frac{d}{r}\right)^{-1}$ $x^2 + 12x - 120 \Rightarrow x^2 - 1 \Rightarrow x^2 = 1 \Rightarrow x = 1$ $\log_{16} 128 = \log_{16} 2 + \log_{16} 64 = \frac{1}{4} + \frac{3}{1} = \frac{13}{4}$	(2) 8
$1 + a = \log_2 r + \log_2 c = \log_2 r \Rightarrow \log_2 1 = \frac{1}{2} \times \log_2 r = \log_2 \frac{r}{2}$ $\log_2 c = \log_2 b \Rightarrow b = c$ $\log_2 c = \log_2 b \Rightarrow b = c$ $\log_2 c = \log_2 b \Rightarrow b = c$	(2) 9
$\frac{1}{\sqrt{x}} = x^{-\frac{1}{2}} \Rightarrow \left(x^{-\frac{1}{2}}\right)^{\frac{1}{a}} = x^{-\frac{1}{2a}}$ $\log_{10} 2 = \log_{10} 2$ $\log_{10} 2 = \log_{10} 2$ $\log_{10} 2 = \log_{10} 2$	(2) 10

$$a = \frac{b+c}{r} \rightarrow b = ra - c$$

-10

$$\frac{1}{n_1 + n_2} = \frac{1}{S} = \frac{ra}{b} = \frac{ra}{ra-c} = \lg r = \cancel{r} \lg r \rightarrow \frac{ra}{ra-c} = \lg r$$

معلوم, $\frac{ra-c}{ra} = \lg_r^{10} \rightarrow 1 - \lg_r^{10} = \frac{c}{ra} \rightarrow r - \lg_r^{10} = \frac{c}{a}$

$$(r^{-\frac{1}{n}})^{\frac{c}{a}} = (r^{\frac{c}{a}})^{\frac{1}{n}} = (r^{r - \lg_r^{100}})^{\frac{1}{n}} = \left(\frac{r}{100}\right)^{\frac{1}{n}} = a^{\frac{1}{f}} = \boxed{\sqrt[n]{a}}$$